A2CC Unit 5 test Review #2		Name____________________________
[bookmark: _GoBack]I. Multiple Choice - Answer each question in this part on the line provided. Each question in this part is worth 2 points.
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____	6.	The graph of the quadratic function [image: ] includes the following coordinates: A(0, 16), B(2, 4), and C(5, 31).  What are the new coordinates based on the transformation 
	1)
	A’(16, 0), B’(4, 2), C’(31, 5)
	3)
	A’(0, 16), B’(-2, 4), C’(-5, 31)

	2)
	A’(0, -16), B’(2, -4), C’(5, -31)
	4)
	A’(0, -16), B’(-2, -4), C’(-5, -31)




II. Each question is worth 4 points. Partial credit will be allowed. Show all work in order to reveive full credit. A correct response with no work shown will receive only one credit.

	7.	Consider the functions  and 

	a) Find [image: ]



	b) Solve the equation [image: ]
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	8.	
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III. Each question is worth 6 points. Partial credit will be allowed. Show all work for full credit. A correct response with no work shown will receive only one credit.

	10.	For the given relation          

	(a) State the inverse.

	(b) Prove that your result is correct using compositions.










.

	11.	Classify the symmetry of each function as even, odd, or neither.  Use the justification box to justify your answer.

	Function
	Classification
	Justification
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If g(x) = %x+8andh(x): %X—Z,whatis'he
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By what transformation can the set representing the
inverse of a function be found?

1) reflection in the origin

2) reflection in the line y =x

3) rotation of 90° about the origin

4) reflection in the y-axis
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‘Which list of ordered pairs does not represent a
one-to-one function?

D (1,-1),(2,0),3,1),(4.2)
2) (1,2).(2,3).3,4).(4,6)
3) (1,3),(2,4).3.3).4.1)
4) (1,5).(2,4).3,1).(4,0)




image7.png
Ax)=3x-27 +4




image8.png
1

g™ (x)




image9.png
(Ffog™ix) =




image10.png
. 1
Solve algebraically for x: e




image1.png
Which relation is both one-to-one and onto?
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‘What is the domain of the function f(x) =

1) {x|x € realnumbers,x # 7}
2) {x|x e real numbers,x # 7}
3) {x|x e realnumbers}

4)  {x|x e realnumbers,x # 0}




